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SECTION 1 (Questions 1 to 18)
(122 marks)

Recorded examples of music will be played to help you to answer the questions in Section 1. You may
write while the music is being played.

Answer all questions in the spaces provided after each question.

1. One example from each of the following three groups ((a), (b) and (c)) will be played twice,
followed each time by a 10-second pause in which you are to indicate which example was played
by ticking the appropriate box.

After the pause the example will be played a third time so that you can check your answer.

Before each example, two bars will be given on the metronome to set the tempo.

(a)

—3—

J=1200=J )
’-’i | | | . 1l |
‘i\ I I I I I || I I I I I I I | I I I I I I I I I 1 |
—— | |  — |  — | | Y i—‘l;—l  — | |
J e | | 1l |
" * o o o o o > > o o > o o 7 > > o 0 o0 o0 o > o :/1 > :/1 o l
‘i\ I I I I I || I I I I I I I | I I I I I I I D) I 1 |
_ | |  — |  — | | Y I—é—l  — Y |
J e | | 1l |
" s 3 > o o o o > > o 0 0 o o o 7 > o o o o oo > o o 7 o l
‘i\ I I I I I || I I I I I I I I | I I I I I I I I I 1 |
S —— | | S —  — | | Y i—‘l?—l  — | |
J N | | | 1l |
" t o o o o o > > © © 0 o o0 o 7 > > o 0 o0 o0 o > o 7 > :/1 o l
‘i\ I I I I I || I I I I I I I I | I I I I I I I J I 1 |
] | | S E——  — | | Y el I—é—l  — |4 |
(2 marks)
D =150

(2 marks)
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(c) D =180
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(2 marks)

One bar has been written incorrectly in each of the following examples of rhythm ((a) and (b)).
Each example will be played three times, followed each time by a 15-second pause in which you
are to write the bar number of the incorrect bar in the space provided for part (i), and write the
correct rhythm for that bar on the stave provided for part (ii).

Before each example, one bar will be given on the metronome to set the tempo.

(@ J=50
2 3 4 5
2 . I I I . I . Il |
H5 o o o 90000000 o000 0000090 o o
A [ [ 11 [ [ [ [ [ [ || [ I 1 || [ [ [ [ 1 || )1 1 |
T AL \ _— —— ] \ vl
(i) Bar number of incorrect bar: (1 mark)
(ii) Correct rhythm for bar:
3
A (2 marks)
(b) J.= 66
2 3 4
[0 I I I Il |
K)o oo oo oo 00 o o o000 o0 000 oo oo o0 o0 |
O I I I I I I I 1 i V I I I I I 1 E i } } d } } } 1 } } } i 1 |
(i) Bar number of incorrect bar: (1 mark)
(ii) Correct rhythm for bar:
H
(2 marks)
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3. A melody for oboe with piano accompaniment will be played three times, followed each time by a
20-second pause in which you are to complete the rhythm of the oboe part on the stave provided
by adding stems, beams, dots, and ties to the note heads given, and by adding bar lines. There
are no rests in this melody. The first part of the rhythm has been given.

After the pause the melody will be played a fourth time so that you can check your answer.

Each time before the melody is played two bars will be given on the metronome to set the tempo.

J=84
%% —— ———,
g ¢ i —1=

(7 marks)

4. Amelody in § time will be played three times, followed each time by a 20-second pause in which
you are to write the rhythm of the melody on the stave provided. The melody does not have rests
or an anacrusis.

After the pause the melody will be played a fourth time so that you can check your answer.

Each time before the melody is played two bars of dotted crotchets will be given on the
metronome to set the tempo.

J. =60

(7 marks)

5.  Two pairs of intervals ((a) and (b)) will each be played twice, followed each time by a 10-second
pause in which you are to indicate which pair of intervals was played by ticking the appropriate box.

After the pause the interval will be played a third time so that you can check your answer.

(a) A perfect fifth followed by a minor second.

A perfect fifth followed by a major second.

A perfect fourth followed by a major second. (2 marks)

(b) A minor third followed by a minor seventh.

A major third followed by a major seventh.

A major third followed by a minor seventh. (2 marks)
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Three intervals ((a), (b), and (c)) will each be played twice, followed each time by a 15-second
pause in which you are to write the interval on the stave provided, and write the name of the
interval in the space provided. Name the intervals by both quality and size (e.g. perfect fourth).

After the pause the interval will be played a third time so that you can check your answer.

@ _g

Y 4
A Name of interval:
) o
(b) 7 Q
(3 J (@) Name of interval:

©) F—FHo——

(2 marks)

(2 marks)

Name of interval:

(2 marks)

Two eight-bar melodies ((a) and (b)) will each be played three times, followed each time by a

15-second pause in which you are to:

« identify the tonality of the melody as major or minor, and write your answer in the space

provided for part (i)

« identify the time signature as simple or compound, and duple or triple, and write your answers in

the spaces provided for part (ii).

(a) (i) Is the tonality major or minor?

(2 marks)

(ii) Is the time signature:

(1) simple or compound?

(1 mark)

(2) duple or triple?

(1 mark)

(b) (i) Is the tonality major or minor?

(2 marks)

(ii) Is the time signature:

(1) simple or compound?

(1 mark)

(2) duple or triple?

(1 mark)
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8.

One melody from each of the following two groups ((a) and (b)) will be played twice, followed each
time by a 15-second pause in which you are to indicate which melody was played by ticking the
appropriate box.

After the pause the melody will be played a third time so that you can check your answer.

(a) + =100
/) | |
p” A {13 I | I
P ! ] I 1 — 1 ] i |
) o s \ ‘ 4 ‘ \
O 1 N
P’ AN ) I I I | I I I 1 |
% i ® o “ —— ———
I ] I I I ] 1 |
\ ‘ ‘ \
/) | | | |
P’ A {13 I | I
P ! ] i D— i
DY) ] > \ 1 4 \ \

(2 marks)

(2 marks)
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Two melodies ((a) and (b)), with accompaniment, will each be played twice, followed each time by
a 20-second pause in which you are to:

« identify the scale (major, harmonic minor, melodic minor, or natural minor) on which the melody
is based and write your answer in the space provided for part (i)

 write the scale on the stave provided for part (ii), using accidentals in concert pitch; the tonic
note is given
+ write the scale degree name of the note named in part (iii).

After the pause the melody and accompaniment will be played a third time so that you can check
your answer.

(a) This melody is for cello with harp accompaniment.

(i) Type of scale used: (1 mark)

(i) Write the scale ascending.

[
e

N

o)

(2 marks)
(iii) Write the scale degree name of the note C sharp in this scale.
(1 mark)
(b) This melody is for clarinet with marimba accompaniment.
(i) Type of scale used: (1 mark)
(i) Write the scale descending.
0 1
—H—DO
[ fan
ANSY
),
(2 marks)
(iii) Write the scale degree name of the note C in this scale.
(1 mark)
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10. Four of the following six melodic fragments are missing from the melody below, as indicated by

the arrows:
o _ £ o
) Dy T e '
hll KXW/ . ~Je1 D
7 5 “Z H L 7 51
V1 i vV D
et T
y AT |
V1 |

The melody will be played twice, followed each time by a 20-second pause in which you are to
write the four missing melodic fragments in their correct positions on the stave provided.

After the pause the melody will be played a third time so that you can check your answer.

Each time before the melody is played, one bar will be given on the metronome to set the tempo.

J=74 l l l l

Ne
B
[ |
N
=

(4 marks)

11. A melody for cello with piano accompaniment (for which the chord progression is shown) will be
played four times, followed each time by a 20-second pause in which you are to complete the
cello part by adding the missing notes. The rhythm of the cello part is given above the stave, and
some notes of the melody are given on the stave.

Each time before the melody is played the tonic chord will be played to set the tonality, and one
bar will be given on the metronome to set the tempo.

J N T

J.= 66 Fim A Bm
L L Py 0o o Py v 3 F -
D 2 4 20 e | A d I
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Tﬁ—ﬁ—P—F- e P i
il X TV | | [ |
Z | — | | |
bt ; T

(8 marks)
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12. The top note has been omitted in the following pairs of chords. Each pair of chords ((a) and (b))
will be played twice, followed each time by a 15-second pause in which you are to add the top
note to complete each given chord. Use accidentals where necessary. The chords will be played
as broken chords.

After the pause the pair of chords will be played a third time so that you can check your answer.

(@ _p
:@tﬁ:ﬁﬁ: (2 marks)

()

®) _{

[ Man) Ly

%—ﬁi——ﬁg—i (2 marks)

13. Two broken chords ((a) and (b)) will each be played twice, followed each time by a 15-second
pause in which you are to complete the chord by writing the other notes of the broken chord on
the stave provided. Write the name of the chord in the space provided. The lowest note of the
chord is given.

After the pause the broken chord will be played a third time so that you can check your answer.

(@)

© Name of chord: (4 marks)

QQ;’ND

(b) —eo——

N

Name of chord: (4 marks)
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14. Two melodies ((a) and (b)), with harmonic backing, will be played twice, followed each time by a
15-second pause. Tick the appropriate box to indicate which chord progression was played as the
harmonic backing, using the chord language with which you are more familiar.

After the pause the melody and harmonic backing will be played a third time so that you can

check your answer.

(a) This piece is harmonised with one chord for each note.

O

O

.

1T
e

Traditional harmony

| V' wvib iib V"

I i iii iib \Y, I

I v Ib iib \Y, vi

| i Vi ib V'

(b) This piece is harmonised with one chord for each bar.

Gm

Bb

Gm

Chord symbols

Dm/F  Gm/Bb
Am Gm/Bb
F/IA Gm/Bb
Dm Gm/Bb

c' F
C F
C Dm
c' F
(2 marks)
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Fm

Fm

Fm

C'IE

C'IE

Chord symbols

Ab
Bbm’
Bbm’

Ab

Db
Fm
Db

Fm

(2 marks)



15. A piece for alto saxophone and piano will be played once, followed by a 40-second pause in
which you are to answer questions (a) to (c) below.

After the pause the music will be played a second time so that you can check your answers.

3

J=oo 32070
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(a) Which term best describes the rhythmic device used in the alto saxophone part in bar 1?

(2 marks)

(b) Which term best describes the melodic device used in the alto saxophone part in bar 37

(2 marks)

(c) Which term best describes the relationship between the alto saxophone melody in bar 4 and
the alto saxophone melody in bar 5?

(2 marks)
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16. A piece for flute, oboe, and bassoon will be played once, followed by a 40-second pause in which
you are to answer questions (a) to (c) below.

After the pause the music will be played a second time so that you can check your answers.

_ @
/=38 2 ] 3 .4
sl o 2
fuf o efe e P PLE PL e pPe - £ es ,e
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Oboe |{Ey—+—g 77— 7 T — — [ e i i
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6t = =11 =1 I = | =
| o\ a
o > o i — R —
G — 0+ 2 e ——< [ FF
) 14 | o ) I
~
; 1 —
e e e e
[ [ T
(a) Describe the time signature of the piece.
(2 marks)
(b) Name the type of non-chord note used in the flute part in bar 2, marked (i).
(2 marks)
(c) To which key does the piece modulate in bar 4?
(2 marks)
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17. Refer to the score for ‘A parting gift’ on pages 2 and 3 of the score booklet.

The music will be played once, followed by a 2-minute pause in which you are to answer
questions (a) to (e) below.

After the pause the music will be played a second time so that you can check your answers.

(a) The main theme for this piece is played by Violin I in bars 1 and 2, marked (i).

(i) Which instrument plays this theme in bars 12 and 137

(2 marks)
(i) Which instrument plays this theme in bars 23 and 247?
(2 marks)
(b) Rewrite the viola part in bars 1 and 2 at the same pitch in the bass clef.
—):
7
(2 marks)

(c) Tick the appropriate box to indicate the term that best describes the relationship between the
Violin I part in bars 7 and 8, marked (ii), and the Violin I part in bars 16 and 17, marked (iii).

Inversion.

Fragmentation.

Imitation.

Rhythmic fragmentation. (2 marks)

(d) Name and describe the dynamic used in bar 9.

(2 marks)
(e) (i) To which key does the music modulate in bar 237
(2 marks)
(i) What is the relationship of this key to the tonic key?
(2 marks)
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18. Refer to the score for ‘Over and out’ on pages 4 and 5 of the score booklet.

The music will be played once, followed by a 2-minute pause in which you are to answer
questions (a) to (f) below and on page 15.

After the pause the music will be played a second time so that you can check your answers.

(a) In which section of this music does the timpani play a pedal note? Tick the appropriate box to
indicate your answer.

Bars 1 to 4.

Bars 13 to 16.

Bars 17 to 20.

Bars 21 to 25. (2 marks)

(b) Name the musical technique used in the glockenspiel, xylophone, and marimba parts in

bars 5 to 12.
(2 marks)
(c) Name the chord used in the percussion parts in bar 5, marked (i).
(2 marks)
(d) Name the two articulations used in the trumpet and french horn parts in bar 10.
(2 marks)

(e) The time signature has been omitted in bar 12, marked (ii). Indicate the time signature that
should be shown in this bar.

(2 marks)

page 14 of 17



(f) Tick the appropriate box to indicate the interval in concert pitch between the trumpet and
french horn parts in bar 15, marked (iii).

Major second.

Major third.

Major sixth.

Major seventh. (2 marks)

No further questions refer to the recorded music.

Please turn the page to complete Questions 19 and 20.
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SECTION 2 (Questions 19 and 20)
(18 marks)

There are no recorded examples of music for this section.

Answer all questions in the spaces provided after each question.

19. The musical excerpt below has been grouped incorrectly. Rewrite the music on the stave
provided, using the correct note grouping.

4 I I I I I Il |
y AW 0 ) [ [ [ [ [ Il |
DR [ [ [ [ [ Il |
ANBVAL® ] I I I I I 1 |
D)

(6 marks)

20. Refer to the score on page 6 of the score booklet to answer questions (a) to (f) below and on
page 17.

(a) Name the tonic key of this piece.

(2 marks)

(b) Bars 2 and 3 of the piece appear below. Circle the passing notes.

2 3
7 () | —
D F | | I - I
Soprano @%——‘—hﬂ = i 7 D 1’—\'—\?—!
Y} \ f — \
Wie - der - sehen Auf Wie - der - sehen
0 1 ‘ —
Alto IS5 2> 1 1 i \ 1 1 i
[9 vV a é ‘ | - | | A é I |
| ™ g () |
\e e 1%
Wie - der - sehen Auf Wie - der - sehen
- o O/\. / el
Tenor | )b | = i e \ |
V.4 P 4 | e | I | } | I
a - - - ra Auf___ Wie - der - sehen
T |
6): 4 o) » P~y | =) I
Bass 7577 } | T o = i
Ve —— || | 1
N ‘ ‘
a - - - ra Wie - der - sehen
(2 marks)
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(c) To which key does the music modulate in bar 3?

(2 marks)

(d) To which key does the music modulate in bar 6?

(2 marks)

(e) Which type of cadence (perfect, plagal, imperfect, or interrupted) is used in bar 7 marked (i)?

(2 marks)

(f) Which type of cadence (perfect, plagal, imperfect, or interrupted) is used in bar 8 marked (ii)?

(2 marks)

page 17 of 17 — end of question booklet
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Answer one question from this part, Question 21 on Option A or Question 22 on Option B or
Question 23 on Option C. Write your answers in the spaces provided.

21.

OPTION A: COUNTERMELODY

The basic harmonic structure is given in the following melody:

Moderato

Eb A®? Dm’ F7 Bb
0O 1 [\ I\ |
i — | N 15 1
%@ = = y_— - I f
= | | | | |  I— | 1 1 |
D) [ f ' f

(a) Alter the harmony by including each of the following:

* two examples of chord substitution
 on two of the given chords, two additional examples of chord extension to the seventh.

Write your chord symbols above the melody in the space provided on page 3.

(12 marks)
(b) Write your chords, using piano-voicing, on the stave provided on page 3.
Show smooth voice-leading. (20 marks)
(c) Write a countermelody to the given melody on the stave provided on page 3.
The first bar of the countermelody is to be a semibreve rest. (20 marks)

(d) Transpose the first and second bars of the given melody to be played by an alto saxophone
in Eb on the stave provided below.

f)
7

<

A\\SV
[y,

(8 marks)
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Moderato

Melody
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=

N /1
e 3

7 ()
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Countermelody

)
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[ fan WA /
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Piano
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y 4N e 3
[ fan WA /
Z b Vo

vV Tk

|

[ fan N

[ fan N

raY
hdl X))

PLEASE TURN OVER
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22.

OPTION B: JAZZ-RELATED HARMONY

Harmonise the following melody in jazz-related style for keyboard, using piano-voicing and
smooth voice-leading.

Write your chord symbols above the keyboard part.

The harmonisation should include:

* the bass movement of a fourth

* at least two examples of chord extension to the ninth and/or the thirteenth

* at least two examples of altered fifths and/or altered ninths

* at least two examples of modulation using the chord progression 2 5 1. (60 marks)

Moderate swing

f) | , P , |

1 ! W
- —
- |

0O |
o Dy
g\ hH &
[ fan N /
SV L 3
D)
o |
hll NN A= 3
Z
A 3
| [——— P — — — [r—
A~ T | | | i | i | | | | | | | | | | | | | 1 |
| g | 1 |
! b | 1 |
D) ~—— vd
0 |
o 1D
y 4AWN2Y
| Fan Nd
<V
D)
O
)y
Z b
v
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23.

OPTION C: FOUR-PART VOCAL STYLE

Harmonise the following melody in four-part vocal style. Identify your chords under the stave,
using the appropriate roman numerals.

Include in your answer:

« three different cadences, as appropriate to the marked phrasing

 a passing note in the lower parts

* a dominant seventh chord, correctly resolved

+ a passing § chord

+ a cadential § chord. (60 marks)

Moderato

H 1 | | N | | | | |
. ] | r A I | | | |
#EE"&j—'_d—l o = | r J [ ™ e B
H—2f i i i i i |
e

« | | | | ]
hdll CNP A 3 | | | |
— I I I I
O 1" | 1 | | ‘ |
S D I- | I | ‘% % I ’} II
ﬁb—é—‘—|¢ o | < I |
<V I @ I i |
D)

DO | | Il |
hdll KXWV | | 1l |
Z b | | 1l |

L 1 1 1l |
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17. Refer to the following score when answering the question on page 13 of Question booklet 1.

A parting gift
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18. Refer to the following score when answering the question on pages 14 and 15 of

Question booklet 1.

Over and out
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20. Refer to the following score when answering the question on pages 16 and 17 of
Question booklet 1.
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